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196 Match List I with List IT :

List I List IX

A. RNA polymerase 111 [. snRNPs

B. Termination pr

transcription! II. Promotor

I1I. Rho factor
SnRNAs, tRNA

C. Splicing of Exens
D. TATAbox ™ IV.
Choose the correct answer from the options given
below :
(1) A-V, B-lI,C-L, D-I
(2) AL B-IV,C-L D-III
(3) A-IL Bl ¢-1\c D-I
(4) AL BAIV/CL, D-TI

i— -
197 Match List I witly List IT :

-~ List IT

o

A. Exophthalmic? L
[ &4

List I
Excess secretion of
goiter cortisol, moon face &
hyperglycen;ia

B. Acromegaly~  II. Hypo-secretion

- f thyroi
0o of thyroid hormone
i‘j and stunted growth.
C. Cushing’s m II. Hyper secretion
syndrome of thyroid hormone &
protruding eye balls.

@
of growth hormone.

se the col[ebtan WEr from ¢ 1ven
SWE i i
fr m the Optlons g

D. Cretinig Ly
W @es  IV. Excessive secretion

198 CI

199

200

rrect statement given beloy,

nedullary nephron.
phrons outnumber .

hoose the €©
regardin gjuxtal
(1) Juxtd medullary B€
cortical nephrons:
Juxta medullaryln?p‘
mns of Bertini-=

cle of juxta medullary nephrop,
er poi‘ﬁbn of the renal meduljy

rons are located i
@ 3 In the
colu
Renal corpus
Jies in the out f
Loop of Henle of juxta medullary nephrop
runs deep into medulla.
|

3

(€))

g '
Given below are tWo stfa_}gments :

Statement I : The ceiqbral hemispheres are
connected by nerve fract known as corpus
callosum.
Statement IT : The brain stem consists of the
medulla oblongata, pons and cerebrum.

In the light of the above'statements, choose the

most appropriate answérfrom the options given

(71

L4

below : b
(1) StatementI is incé{ﬁzect but Statement II is

correct. 7
(2) Both StatementIandStatement Il are correct.
(3) Both Statement I and Statement II are

incorrect.

Statement I is corre
incorrect.

(C))

Given below are two statéments :

Statement I : M1toch0Qg3;1a and chloroplasts are
both double membrane bound organelles.

Statement II : Inner membrane of mitochondria

is relatively less perffféable a
! , as
chloroplast. o compared to

Intheli ght oftheabove statements, choose the most
appropriate answer from.the options given below :

(1) Statement I is incorrect but Statement I is
correct. e

()
3)

Both StatementIand Statement Il are correct.

Both Statem
z ent [ and S
incorreot. tatement II are
(4) State "

ment [ :
incorrect, Lis correct but Statement 11 is

[ Contd...
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are the statements ab
: o a
to 200) | _._n

R The followi
———} (Q. No. 186 ; asystem: | 193 The
—— Section-B (Q- No- 1 ik ] 3 . -elated to digestive sys! 7 atess i RO
[ Zool Sl e wvetom. the blood | 188  Identify the correct option (A), (B). (¢ ) (D) wigly 190 Matc st Il related to r:::_v_:”f 1x is perforated by gill slits.
As per ABO bleo? £ S A* and respect to spermatogencs A EheKror st A. PharynxisF i
up of futher.is B ¢ s can be List I . Gizzard B. Notochord isabsent- s dorsal.
ot Sl e A. The m:.__n:__.A_..,,n:.._MMﬂ_ : C. Central nervous system 15 dOrs
y A, IBi/IAI/ii (Sl I _@_ .<,”;.:a__,umc_4 ; g, (G D. Heart is dorsal if present.
: B. Ring as Caeca ! = t.
B. IBB/IAIA/i tubules at junction of Aec E. Post anal tail is o_gmm:. _wer from the
3 foregut and midgut. gl Choose the most appropriate ans
C. ITAIB/iIA/IBi + C. Ringof 100-150 yellow . i below
- 1B 7 TA ®B) coloured tl ] : f I
D. IAi/IBi/IAI i filaments at junction of (1) B,C&D only
E iIB/iIA /TAB Androgens midgatand hindgut. AEE @ A& C only
; e D. The structures :mon_m V. P () A,B&D only
Choose the most appropriate answer from the Fe o e rerennand: srinding the food. y o
im_,“:,,n:: en viosm,w e O_H_Muﬁumw___:n nou:.oog:méﬁ from the options given 4) B,D&E only
C s g 3
below : p nZY ction.
(1) D &E only (1) A-II, B-II, C-1V, D-I 194 Regarding catalytic nv.o_m, of an enzyme al
(1) ICSH, Leydig cells, Sertoli cells, @) A-1V, B-II, C-III, D-I select the correct sequential steps :
(2) Aonly spermatogenesis. @) A-L B-I, C-III D-IV A. Substrate enzyme complex formation.
3 % 1 -1V, B-IIL, C-IL, D-I ; ; : ith another
(3) B only (2) - FSH, Leydig cells, Sertoli cells, @ = B. Free enzyme ready to bind with
(4) C&Bonly spermiogenesis 191 Match List I with List IL : substrate.
3 rstiti i List I List IL C. Release of products.
® Hmw.zm::m_ m:.:m_ Gl evdizcells, A. MesozoicEra 1. Lower invertebrates D. Chemical bonds of the substrate broken.
187 Match List I with ListII : % s 5, Eaolie iy GENC >W3_u:.__§u E. Substrate binding to active site.
? 2 . : ic Er: irds & Reptiles s = g i
4) FSH, Sertoli cells, Leydig cell: C. Cenozoic Era II. Bir ¥ = s given
ListI List IT ¥ o8 oc. A i D. Paleozoic Era IV. Mammals Choose the correct answer from the options g
SDermatogelcsis, Choose the correct answer from the options given below :
A. icellular glandular 1. Salivary glands below : @D E. DLEC B, A @) EATPICER
i (1) A-II, B-I, C-TV, D-II ) AYESBLD. C 4 B,A,C,D,E
epithelium 189 Given below are two statements : @) AL B-I, C-IIL D-IV (€) (
S ; 4 ; -III, B-I, C-II, D-IV
B. Compound epithelium II. Pancreas Statement I : Gause’s competitive exclusion Mww W.“:w;r CoIV, D-III 105 Givenbolw fie (n6 Sricmene s
5

C. Multicellular III. Goblet cells of

glandular epithelium alimentary canal

D. Endocrine glandular  TV. Moist surface of

epithelium buccal cavity
Chy
aﬂaomngn comectanswer from the options given
oW

O AUBY ey p
Q) AL B ClL, Dy
@3) AN p , C1py
.w 4y ?E_w,—/ﬁ Cipay
S Engig, |

28

principle states that two closely related species
competing for different resources cannot exist
indefinitely.

Statement IT : According to Gause’s principle,
during competition, the inferior will be eliminated.
This may be true if resources are limiting.

In the light of the above statements, choose the
correct answer from the options given below :

(1) Statement I is false but Statement II is true.
(2) Both Statement I and Statement II are true.
() Both Statement I'and Statement I1 are false.

(4) Statement I is true but Statement 11 is false.

[ Contd...
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192 Match List I with List II :

List I List IT

A. Pwave I.  Heart muscles are
electrically silent.

B. QRS complex II.  Depolarisation of
ventricles.

C. T wave III. Depolarisation of
atria.

D. T-P gap IV. Repolarisation of
ventricles.

Choose the correct answer from the options given

below :

(1) A-1V, B-II, C-I, D-III
© (2) A-LB-III, C-1V, D-I1

(3) A-IIL, B-II, C-1V, D-I

(4) A-II, B-III, C-I, D-1V

S3_English |

2

)

Statement I : Bone marrow is the main lymphoid
organ where all blood cells including lymphocytes
are produced.

Statement II : Both bone marrow and thymus
provide micro environments for the development
and maturation of T-lymphocytes.
Inthelightofthe above statements, choose the most
appropriate answer from the options given below :

(1) Statement I is incorrect but Statement [T is

correct.

(2) BothStatementIand StatementTare correct.

3) Wogr Statement | and Statement Il are
ncorrect.

(4) Statement I is correct but Stal

5 tement [J s
ncorrect.




h List I with List IT'*

184 Matc List 1T
: ith List 112 2
Fthe follow hormone) g2 Match List IWith &5 List IT e [1th chromoso™®
178 h of the 1¢ cler k& 1S A Down’s mvﬁaﬂoan 1L ;
m showir (1) Glucagon ¥ G el N (Specific - el i O chromosome
= BR322 i (Sub Phaseso _Thalassemia T~ .
176 P (2) Cortisol characters) B. a c e
prophase D ; [11, 215t chromosom
3 estostero | 5 tonema & lassem ¥
(3) Testosterone i L Synap 1 C. p-Tha a i
4) Progesterone A. Diakinests ation th chromoso
& _.. C,:“ oo:_n_nx.mo:.:m : D. Klinefelter’s Iv. 16%cl
3 Gt 1. Completion ©
179 Matcl I with List I : B. Pachytene o £ syndrome i
g alisation of -) c ven
ListI L] s gk Choose the correctanswer from the options g
L. Centriol ) chiasmata
AS b entriole (@] below : |
B. 1. a and flagella C. Zygotene mﬁw_ I11. Q:d.domo_”_.ﬁm AR 5.1 cariDm
en . S look like thin Tat e
Prull pattern
ek C. Crista III. Chromosome M.w“ threads @) AL B-IL C-lE D-IV
5 X" is responsible for recogr % 3 s '] 3
0)) “M:.;,. __,M.wnwn“no_;.::n for antibiotic D. Satellite IV. Mitochondria T [0s) V. Appearance of (3) AL, BIL C-IV, D I
resistance. Choose the correct answer from the options given i recombination (4) A B-1IV, mu\.r D-II
Lelog e nodules et
(1) A-II, B-I, C-IV, D-III o i Z =
S z tions given \
the EE_S_E:, o..Euv::.a. : (@) A-1V, B-I, C-II, D-I Choose the correctanswer from the op g % 185 Matoh List Twith st In:
(3) The gene “X” is responsible for controlling i G S bos o ; =i 2
the copy number of the linked DNA and ‘) (3) A-1V, B-II, C-II, D-] o G T ™ List IT
for protein involved in the replication of (4)  A-IL, BV, C-I, D-II (] > dbeed 0 rovides naai]
Plasimid. 2) A-1V, B4l C-III, D-1 A. Pons -
&) 1D 3 .vm_,u__m m.m Ew_wm, m::a_.,;_w_ N | 180 Match ListT with ListII : | (3) A-LB-IL CIV, D-III ¢ space for Neurons,
replication of Plasmid and * ¥ for resistance ) % S
_om_:mzo:nw. gl LU 01 | @ A m._wwm G . regulates posture
A. Cocaine I.  Effective sedative in [ () Al
177 Match List I with ListII - surgery. | 183 Given below@® two statements : one is labelled
ListI List I B. Heroin 1. Cannabis sativa | as >mm2:o:ﬁ and the other is labelled as B. Hypothalamus Controls
A IS JOTS L Pa._mn_um_: i C. Morphine- L. Erythroxylum Reason R : ”.J respiration and
rt Timit o K 3 dctoiad g
“imoﬁzﬂwﬂﬂ imite: D! Marijuana IV. Papaver somniferum Assertion A :Breast-feeding during initial period cashic cor .
B. Cartilaginous TR e ehnd Choose the correct answer from the options given Om._z»..u_: growthis recommended by doctors for > 2
ot Perorl e below - bringing a :owm_z baby. C. Medulla ~ 1II. Connects different
s (1) A-IL, BV C-I, D-IT | ReasonR : Om._wmn‘:_: contains several antibodies o regions of the
movement (2) A-IV, B-III, C-1, D-II 2 absolutely mmmwm_mm_ to develop resistance for the (e a] et
i 5 2 rain.
c ?.swm I Skull, don’t () Al BIL, C-II, DIV, newbormibabayy W“
joint allow m:v\_ (4) A-IL B-I, C-III, D-IV In the light omw_m.wm above statements, choose the D.  Cerebellum _J IV.  Neuro secretory
movemen: . . )
D. Balland IV. Knee, help in E ”Mwﬁmuav_ﬁw answer from the options given ) cells
socket joints locomotion 181 In both sexes of cockroach, a pair of jointed i -
jointe 5 ¥ Choose the correct answe i
m___oomm the correct answer from the options given filamentous structures called anal cerci are present (1) Alsnot correct but R is correct, below : " ftom the optenSeiey
: _n cs% . on: (2) BothAand Rare correctand R is the correct
GW >.:_\. m.w b () 11 segment explanation of A (1) A-I, B, C-IIT, D-IV.
2) A-IV, B-1I, C-I1I, D] m
() A-L B, G, DAV mw wo__gms@___ (3) Both A and R are correct but R is NOT the () AL B, C-1, DIV
(4) A-IL, B-IL C-I. D ! segment correct explanatio 5 A
) IL, C-1, D1V Yl e ot ol @) AL, B-IV, C-II, DI
5 - and 9% sepmen (4) A'is correct but R is not correct.
3_English | 2% (4)  A-L, B-III, C-IT, D-IV

| S3 English
[ Contd... English | I
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0. No. 151 (0 185)
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J nts :
151 Given below are bwe statemer

4y of the follow ing statement

nephron, the descending lim},
:ﬁ:dauzo to water an(

Which

2 regarding the process of replication

Statement L: In :6,
of loop of Henle 1s
permeable to electrolytes.

tement II : The proximal convoluted tubule
ined by simple columnar brush border

epithelium and increasgs, the surface area for

reabsorption. o0
In the light of the abové statements, choose the
correct answer from the ﬂ:o:m given below ;

Statement I is falselbut Statement I is true

1) The DNA dependent DNA polymerase

( . . Y a3
catalyses polymerization in 5*— 3" direc

Sta
(2) The DNA dependent DNA polymerase .

catalyses polymerization in one direction
thatis 325" &
(3) The DNA dependent RNA polymerase

catalyses polymerization in one directio:
thatis 5°—>3°.

(1)

(4) The DNA dependent DNA polymerase (2) Both Statement I and Statement Il are true
catalyses polymerization in 5°—3° as w (3) Both Statement I and-Statement Il are false
as3°— 5’ direction. # :

o (4) Statement I is true _w_mw Statement II is false
- N
150 Match List T with List Il 152 Given belowias e %mﬂ:m:z - one is labelled
List I Ll wmm >mmﬂ:o: A and :~m.%52, is labelled as
) easonR :
A. Citric acid . Cytoplasm Assertion A : FSH acts upon ovarian follicles in
cycle female and Leydig ow:%nmu/m male.
B. Glycolysis - Mitochondrial Reason R : Growing gyarian follicles secrete
e - estrogen in female whileuinterstitial cells secrete
ot matrix androgen in male humap-feing.
Yo P e ﬂE T In the light of the abovg statements, choose the
O correct answer from the options given below :
tr: N AR q
ZHSpor space of (1) Ais false but R is true
system I~ mitochondria (2) Both A and R are fruie and R is the correct
D. Proton SV, Inner GG, Mw
v
: o ) (3) Both A and R areqtiue but R is NOT the
gradient l mitochondrial correct oxv.m:m:oaww A.
(28] membrane (4) Aistrue butR is m e
s, (6]
Choose the correct answer from the options given
below: 153

Which one of the mo:oEREm factors will not affect
the Hardy-Weinberg equilibrium? -
(1) Constant gene poo]t

\
(2) Genetic 8852:%%:
@) Geneticdrif (1)
%)

P
(1) A9V, BAIL CIED-
®
() ALBIL CLDIY
3) A-L B, C1v.'Dl
3) LCIvpun
(4) A-IIL BV, C-1¥p.11

(@) Gene migration

S3_English | .
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155

156

157

Which of the following are Autoimmune
disorders? 6
Myasthenia gravis
Rheumatoid arthritis
Gout
. Muscular dystrophy ;
Systemic Lupus Erythematosus (SLE) ol
Oroomo the most appropriate answer from
options given below :
(1) C,D&Eonly
(3) A,B&Eonly

DOow>

o

2) A,B& D only
4) B,C& E only

Given below are some stages of human evolution. 159

Arrange them in correct sequence. (Past to
Recent)

A.  Homo habilis

B. Homo sapiens

C. Homo neanderthalensis

D. Homo erectus

Choose the correct sequence of human evolution
from the options given below :

(1) AD-CB @) D-A-C-B

() B-A-D-C (4) C-B-D-A

Given below are two statements :
Statement I : The presence or absence of hymen
is not a reliable indicator of virginity.
Statement II : The hymen is torn during the first
coitus only.
In the light of the above statements, choose the
correct answer from the options given below :

(1) Statement is false but Statement 11 is true
(2) Both Statement I and Statement II are true
(3) Both Statement I and Statement II are false
(4) Statement Lis true but Statement I1 is false
Match List I with List I :
List [ List IT
A. Non-medicated [UD L. Multiload 375
W. MOEUQ releasing [UD 1. Progestogens
U. :M_.__sozo releasing [UD ]I, Lippes loop
b plants IV. LNG-20

Choose the correct answer from the options given
below : u

(1) A-III, B-I, C-1v, D11
() A-lII, B-1, C-11, D1y
() A-L B-I1I, C-1v, popy
{4 ALV, B-L, ¢, pyy

158

1 nts :
llowing stateme!

Consider the fo
ates

A. Annelids are true coelom
s

B. Poriferans are vmc:LOnom_oENH

C. Aschelminthes are acoelomates

D.

Platyhelminthes are pseudocoelomates
Choose the correct answer from the option

s given
below :

(1) Donly
(3) Aonly

(2) B only
(4) Conly

Which of the following factors are favourable for
the formation of oxyhaemoglobin in alveoli?
AC, Low pCO, and High temperature

(2) High pO, and High pCO,

(3) High pO, and Lesser H™ concentration

(4) Low pCO, and High H” concentration

Match List I with List IT :
List I
A. Expiratory L.

capacity

160
List IT

Expiratory reserve
volume + Tidal
volume +

Inspiratory reserve

volume
B. Functional Il. Tidal volume +
residual Expiratory reserve
capacity volume §
C. Vital capacity III.  Tidal volume +
Inspiratory reserve
volume
D. Inspiratory IV. Expiratory reserve

capacity volume + Residual
volume

Choose the correct answer from the options given
below :

(1) A-L, B-III, C-11, D-IV

() A-IL, BV, C.1, D-111
() AL, B-IL, Copy, D
&) AL BI, €1V, Doy




©

(1) A-IL B-IV, G-I, D]
(2) A-L B-III. C-1I, D]V
() AV, B-11, C-1, D-11
(4) AL B-I, C-IV, D-I1

S3_English |

s of pathway

C. AV node
Bundle cn_:n_.nm. i
E. SAnode el
Choose the correct sequence ©

athway from the

options given below : L&
Namie of muscle/location (1) E-A-D-B-C @) E-C-A-D-B
) Involuntany - J:./d:_g (3) A-E-C-B-D 'Qb B-D-E-C-A
-Bone ()
~fart 165 Match List I with ListdD:
@) ( -oes List T CiList 1T
!
Skeletal - Legs A. Lipase I. _ﬂwwon:n_a bond
Cardiac - :n,h_l B. Nuclease 1L igEster bond
) Skeletal - Triceps ©  HRaiEse [II. Glycosidic bond
BmootheLlomach D. Amylase IV. Phosphodiester bond
~) Cardia o 5 | el . o
&) Lmdmse - Choose the correct answer from the options given
(4) (a) Skeletal 4Bjceps below : M
(b) Involuntaryé- Intestine (1) A-IV, B, C-IIT, DI
=4 L B-I, ,D:
(c) Smooth -Heart. @) AV, B-IL C-IIED-T
S 5 \_V L (3) AL BT, C-L, DAV
he flippers of t enguins
e ;: pers of the Penguins and Dolphins are (4) AL B-IV, C-I, D-III
the example of the
(1) Divergent evolution ol
(2) Adaptive radiatipn 166  Which of the wc:o::.-wmmgmim:—m is incorrect?
1)) /Ecamminn:nm_ (1) wh.o.:wwo”oﬁm. :w<m an agitator system,
o3 an oxygen %:é.ﬂdmv\m-ai and foam control
(4) Convergent evolution e
= ~y system. .4_
=
» 3G =l o - :
163) Match ListTow (2)FA c_o.ﬂnmnz: _wmwz\._nom oE:.:m_ growth
Tain AT conditions for achieving the desired product.
t - s
'y & (3) Most commonly used bio-reactors are of
. Typhoid 5 Fungus o
B. Leishmaniasis I, N d R
- Ecatode (4) Bio-reactors are tised to produce small scale
- Ringwom 11, Protozoa bacterial cultures:”
D. Filariasis 1 IV. Bacteria m
Choose tl: 1S Wi 3 . e ; £ 5 2
e necomrectanswer from the options given | 167 The “Ti plasmid” of Agrobacterium tumefaciens

stands for (o Jo
(1) Temperature indépendent plasn

(2) Tumour inhibiting plasmid

(3) Tumor independent plasmid
(4) Tumor inducing plasmid

ot [ Contd...
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170

171

A.
B.
C.
D.

Common cold

mozoin

Choose the co
below :

(o)

| C-IIT, D-I

(1) A-V, B
(2) A-IL B-IV, C-IL, DI
(@) A-L B-IIL G-I, DIV
(4) A-IIL B, EII D-TV

Following are tli¢’stages of cell division :

A. Gap2 E:_mwwm
B. Cytokinesis

C. Synthesis phase
D. Karyokinesis

E. Gapl _u:nm%ﬂ

Choose the correct sequence of stages from the

{54
options given below :
(1) E-C-A-D-BV}

(3) E-B-D-A-GE

Which of the following is not a natural/traditional

contraceptive method?
(e5]

(1) Vaults o

(2) Coitu tercuptus

(3) Periodic abstinence

(4) Lactationalainenorrhea

(Ge]
Match List I with ListII :

Choose the corregt answer from the options given

List I ™
Pleurobrachia- IS
Radula © II.
Stomochord. Ww I
Air bladder A.,J IV.
below :
(1) A-IV, B-III, C-I1, D-I
() A-IV, B-II, C-IIT, D-I
(3) A-IL, B-I, C-1V, D-I11
(4)  A-IL, B-1V, C-I, D-I1|

S3_English 1

ectanswer from the options given

(2) C-E-D-A-B
(4) B-D-E-A-C

List 1T
Plasmodium
Typhoid
Rhinoviruses
Dust mites

List IT
Mollusca
Ctenophora
Osteichthyes
Hemichordata

172

Which one Is |
dependent RN A

is the ¢

template?

3

(e}
@ % <1 ]
(3) 5’AUGUAAAGUUL
(4) 5’AUGUACCGU

173 M

"TACATGGCAA ALATCCA

orrect product

polymerase to

of

the

LTCAYE

5 ATGTACCGTT: TATAGGTAAGT3’

.>CCC>OOOCCC>T>GC~ AAGU3
JAUAG
JAUAGGGAAGU3

UAAGU

DNA

given

3°

[ Contd

atch List [ with List
List I List IT
A. «-l antitrypsin . L Cotton bollworm
B. CryIAb o . ADA deficiency
C. CrylAc [II. Emphysema
D. Enzyme ={ IV. Corn borer
replacement
therapy
Choose the correct answer from the options given
below :
(1) A-IL B-IV, C-IsB-IIT
(@) AL B-I, C-IV_D-III
(3) AL B-I, C-I[,D-IV
(4) A-IIL, B-IV, C-I¥D-1T
174 Match List [ with List II :
List I ) List IT
A. Pterophyllum M)/ﬂ. Hag fish
B. Mjyxine . Saw fish
C. Pristis II. Angel fish
D. Exocoetus IV, Flying fish
Choose the correct M:Vﬁ er from the options given
below : e
(1) A-III, B-II, C-I, D-IV
(2) AL B-I, C-III»D-IV
() AL B-L, C-IED-IV
@) ALV, B-L, n._,n‘c-_:
= c T
5 z<:_o:. of the follqwing is not a component of
Fallopian tube? ¢
(1) Ampulla
(2) Uterine fundus
(3) Isthmus
(4) Infundibulum




List I with List IT

‘ 145 Match
List [T s
2 List IT List I List I o
LIS 3 .
o Shec 5 (Types of Stamens) Aﬁx“::.v
C. Cotton i s Robert May . Species-Area 5 s _. e
. Corte
: B. Diadelphous [I. Pea
S B. Alexander von [I. Longterm 2z 1o_§aa_vro:m = fdu)
__,w_,:/,: BN, C-1V, D1 Humboldt ecosystem i e :
@) T:,, m.:v., C-L. U ; experiment using Choose the correctanswer from the options given
AL iy out door plots N
4) AV, BIIL C- Lk 4
(4) A-IV. B-IIL C-11, D-1 ic embryos. C. Paul El III. Global species (1) A, B, C-IV, DA

(2) A-IV, B-IL, C-I. D-III

diversity at about
(3) A-IV; B-I, C-II, D-TIT

(4) Protoplasts

correct description about the given

141  Given below are two statements:
Statement I : In C; plants, some O, binds {0 D. David Tilman V. et popper (4) A-L B-II, C-IV, D-III
RuBisCO, hence CO, fi n is decreased. hypothesis

146 The DNA present in chloroplast is:
(1) Circular, single stranded

(2) Linear, double stranded

(3) Circular, double stranded

(4) Linear, single stranded

Statement IT : In C; plants, mesophyll cells shoyw
very little photorespiration while bundle sheatl, |
cells do not show photorespiration. |
In the light of the above statements, choose the
correct answer from the options given below:
(1) Statement I is false but Statement II is true
(2) Both Statement I and Statement II are true
(3) Both Statement I and Statement II are false

Choose the correctanswer from the options given

below:

(1) A-IIL, B-1V; C-1I, D-I
(2) A-IL B-IIL, C-I, D-IV
(3) A-III, B-I, C-1V, D-II
(4) A-I, B-III, C-II, D-IV

[ Contq

P o e (4) Statement I is true but Statement I1 is false 147 Inan ecosystem if the Net Primary Productivity
e showing complet . . . i i
autogamy. e 142 R ea o 144 Match List I with List I (NPP) of first trophic level is
(2) Wind pollinated plant infl 5 g statements and choose the set , L B =5
p nflorescence showing: of correct statements: List I List IT 100x (keal m™=) yr™", what would be the GPP
flowers with well exposed stamens. 5 I ¢ . o :
B Wais pol el 5 n the members of Phaeophyceae, _A. Frederick 'Genetic'code (Gross Primary Productivity) of the third
rater p owers showing stamens A . i
with mucilaginous covering. - %m@:.m_ reproduction occurs usually by Griffith tophiclevelofitheisame ccosystem?
(#) Cleistogamous flowers showing a D ASTRIS,
S /Ing auto A Bl i i i &
2ammy. B. Sexual reproduction is by oogamous method g rgcin e i et M :wo« (keal m™2) yr
138 Match List I with List I coly; , e mode of DNA o
List I . C.  Stored food is i
List IT ) ood is in the form of carbohyd; M Rarri
M, T Fomem which is either mannito] or E:,::n Y o | c u o:Mnc replication @) a (keal S..mv S‘l_
v D), jor pi . Har Gobind 4
& 1. Enzyme 5 he major pigments found are chlorophyll i stomation
IIL Intercellular , ¢ and carotenoids and Khorana =
e B Vs xanthophyll | L 3) x(keal m2) !
Ok ar substance ve cells have a cellulosic wall, D. Meselson & NG i
& V. Enables glucose usually covered on (| q gcopeion
Choose} transport into cells coating of algin B L Eeletinous St SRt ) E‘L
0se the correct answer from th i G i i
wmas\» . om the options given _uo__wm\m.o the correctanswer from the options given cnh__womm the correctanswer from the options given 148 Id
HIL BV, ¢, p; ) AR entify the step in tri wylic aci
@) AV BRI Cn ot (1) A, B, Cand E oply (1) Al does 1 the step intricarboxylic acid eyele, which
&) ALB1L iy py @) AB, Cand D o] i o Sl B oxidadton oF sibsfrats
(4) A 2255 257 Y 5 1 < .
s ) ARy, by ©) B, C.Dand E ooy & ey MNW Sositrate > a-ketoglutaric acid
S Engligh | ) A, C.Dand E only () A-IlL, B-IV, C-I, D-II Malic acid — Oxaloacetic acid
20 @) AL BIIL, C-1V, Dt Ms Suceinic acid > Malic acid
S 4) Succi o
[ Contd-. | 83 Fngligh | (s o
21




eed-free
oardeners to prepare W
&

(oo d by s auxin
132 Auxin is use c sed to grass a:
fy the type of flowers based on the po Jawns. But no damage is caused 7 o, @
L0 : rolla and androecium with respect to help in cell division in gra
I __f.\_”v,\n%o_: the given figures (a) and (b) 5 M“_a:na growth.
the ovd £
4 inance.
(2)° promotes apical domina ves only-
i s et (3) promotes abscissiom of mature lea A
STy i ( nous
Lo (4) does not affect mature monocotyledo
plants. .
(] ; only
Fthe followi i for the d; @) mw A 133 What is the fate of a piecelof DNA nm_d::m.w:o:
f'the fo 2 are req r the dark S i n
ofthe following :.w_ra::‘Q or the dark 3) D ( gene of interest which is transferred into ai
A. Light /hole plant from organism? o
3 1 127 ly to generate a W : = leto J:.—:.:u_v\
% Mm_ i cell of the plant is called: [ ) opkes kB gl dboah ny cells of
2 : 3 i : 5 i cel
D. ATP (1) Somatic hybridizat (1) (a) Perigynous; (b) Perigynous itself _:%,nsamz% in the progeny
E. NADPH (2) Totipotency g~ ) s the organism.
2 nous; (b) Hypogynou E !
Choose the correct answer from the options given (3) Micropropagation (2) (a)Epigy %} = B. Itmay get integrated into the genome of the
below: (4) Differentiation 3) (a) I%_uoww:v:mw (b) Epigynous recipient.
(' DandEonly  (2) A, Biand C oniy § ) I ltiply and be inherited along with
3 a / = only igynots; igynous C. It may multiply and be inheri
®) B.CandDonly (4) C DandE 128 A pink flowered Snapdragon plant was crossed (#) (@) Ferigynous; (b) Epigy the host DNA
124 ivenbelon e with ared flowered m__uun_quwo__.u_a:. What type - . ; :
m__puwow:qmp._ww,:mwr_ MMM_WSJ__M__““M.W orou, ecifi of phenotypels is/are nxumoa.a in the progeny? I D. The alien piece of DNA is not an integra
and coded by a gene cry Tac, D oo (1) Red, Pink as well as white flowered plants 131 Identify the set.of correct statements: part of chromosomes
Statement IT : B¢ toxin CXISIS as inactive @) Only red flowered plants o E. Ttshows ability to replicate.

protoxin in B. thuringiens However, after
ingestion by the insect the inactive protox 1 gets
converted into active form dye 1o acidic pH of
the insect gut.

In the light of the above Statements, choose the

(3) Redflowered as well as pink flowered plants
(4) Only pink flowered plants

A. The flowersiof Vallisneria are colo urful and
4 produce nectar. Choose the correct answer from the options given

(12] below:
3 h i
B. The flowers of water| ly are not pollinated 1) AandE ety

by water.

129 Match List I with List [T

correct answer from the optj iven bel, el I B s B
e Swel 1€ options given below: . . c, I t ~ i 1 ~
(1) Statement I js false but Statement IT'is true aliuclcolus St Salegmation g o%.%ﬂﬁ, pollinated mvnn:w..f 2 ©) DandE Caly ¢
(2) Both Statement I and Statement 11 are true ommc\aozma Lelicn m_.m_.,sw g rotectedifion greiting, (4) Band C only 0
() Both Statement | and Statement I1 are fase B. Centriole IL " Organization like D. P 9 E
. Polle
(%) Statement I is trye but Statement I1 fs false the cartwhee] and qmumwmﬁm See Rl are e
15 7 oo C. Leucoplasts 1L Site for active _”.me. 134 Which one of the following is not a criterion for
hese are re, jor ca iodiversity : i i i E
e garded as major causes of biodiversity ribosomal RNA _w. In some hydrophytes, the pollen grains are classification of fungi?,
W0, coitasion synthesis carried passively inside Water. 1) Fruiting bod:
@ s D. Golgi e
o-extinction - Golgi IV For storin 2 i
Mutation T T 2 Choose the correcy answer from the options given @ ?.oﬂro_om% of mycelium
Habitat loss and 1 ! below:; (=} 3) Mode of nutriti y
st d fragmentation sn_“oomo the correctansyer from the options given (>3] ¢ s
elow: <

() AL B-11 Cqyp, gy
@) AL B ey g
G) AL B ¢ gy
& ARy oy

Nl

[ Contd...

() B, ¢, b and\E only

) ¢ Dang %m:_z

< \O
(B)FA BYE m:m_ Uo:_%

135

@ A, C, Dand E only

S3_English |
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4) Mode of spore wo.._.mmzo:
N

i

(5,:0: of the following js a0 example of
actinomorphic flower? ‘&
(1) Sesbaniq

3) Cassiq

) Datyrq
@) Pisum

[ Contq
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92

The work done during reversible isothermal
of one mole of hydrogen gas at 25°C

ire of 20 atmosphere to 10 atmosphere

90

expan
from pres:

is
(Given R =2.0 cal K-!mol~

(1) 100 calories

@) 0calopig

(3) —413.44 calories
(4) 413.14chlories

The plot of é&otic pressure (11) Vs concentration
(mol L") fof% solution gives a straight line with
slope 25.73 L bar mol-1. The temperature at which
the omao:.n/m:umu.:_.m measurement is done is:
(Use R =0.985 L bar mol-'K-)
(1) 12.05°C @) FHE
G) 310°C~, 4) 25.73°C

Major prodpcts A and B formed in the following
reaction sequence, are
OH

Br HC

3 3=

1F=964g: mass of Cy ; 63 g mol-]

ﬁ,w ﬂ.s; & @) :
o 315 b w__m g

Engligy \ S

14

96

94

95

Consider the following reaction in a scaleg
prium with concentrations of vey,

N, =3.0x 103M, 0,=4.2x 10-3
NO=2.8x 102 M.

ang

\ =N WINEEO
2NO() =N, () £ 02(e)
1£0.1 mol L1 of NOy is taken in a closeq

S v
what will be aoma@o__a_,uwoomm:,o: AQV

at equilibrium? o
1 0717 v) @ 0.00889
(3) 0.0889 ) (4) 0.8889

of N\

Identify the major product C formeq
following reactionisequence :

(o]

~r NaCN
CH,—CH, ~CH, WLIE

ing

2 B NaOH
Partial hydrolysis "~/ lwqol
[{a) 2

C
(major)
(1) o—bromobutanoic acid
(2) propylamine _

() butylamine
(4) butanamide mmu
ﬁa pair of lanthaneid ions which are diamagné
is (34 i
(1) Pm3" and Sm3%
(2) Ce** and Yb2+
(3) Ce3* and Eu2*+
(4) Gd3* and Eudt
o
For the given Rmnm‘% 2
C=CH %\.\%
1 ——x
H (34)
©

99

P
(major
Pis product)
0 o
noily
OE@=cioR)

@) (O)—coont
(30]
OH oW

@ Oty s\

n below are tWo statements :

3+ .
Statement I : ﬁncAZ:uvL is a homoleptic

complex whereas ﬁﬁom IL.FO_N\_ is a

heterol ptic complex.

Statement IT : Complex TOAZILL has only

one kind of ligands but ﬁﬁoAZILLQL has

more than one kind of ligands.

In the light of the above statements, choose the
correct answer from the options given below:

(1) StatementIis false but Statement II is true.
(2) Both Statement I and Statement II are true.
(3) Both Statement [ and Statement Il are false.

(4) Statement [ is true but Statement 11 is false.

The rate of a reaction quadruples when
temperature changes from 27°C to 57°C.
Calculate the energy of activation.

Given R = 8.314 J K-! mol~!, log 4 = 0.6021

(1) 3804 kJ/mol
(2) 38.04 kJ/mol
(3) 380.4 ki/mol
(4) 3.80 kJ/mol

100 The products A and B obtained in the following
2

reactions, respectively, are
3ROH + PCl; > 3RCl + A
ROH + vn_mlﬂn_ + HCl+ B

(1) H3PO; and POCI,
() POCI; and H;PO,
3) voo_%:_i_u,_vo.L
(4) H3P0, and POCI,

3

[ Botany * S

e

101

102

103
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m of

wth medit
n of:

nt in the gro =
53 7 y the actio

The lactose pr
ported to the cell b;

bacteria is trans
Polymerase

(€)) :
2) wg.mm_mngm_ammn
3) Acetylase
(4) Permease

r weight organic

cithin, a small moleculal
is an example

Le A
g tissues,

compound found in liv
of:

(1) Carbohydrates
3) Phospholipids

(2) Amino acids
(4) Glycerides

Match List I with List IT

ListI List IT

A. Clostridium I Ethanol
butylicum

B. Saccharomyces II. Streptokinase
cerevisiae

C. Trichoderma II. Butyric acid
polysporum

D. Streptococcus sp. IV. Cyclosporin-A

Choose the correct answer from the options given
below:

(1) A-IV, B-I, C-III, D-TI
(2) A-II, B-I, C-II, D-I'V
(3) A-IL B-IV, C-IIL, D-I
(4) A-II B-L, C-IV, D-II

104 The equation of Verhulst-Pearl logistic growth is

dN
dt

(5]

From this equation, K indicates:

(1) Population density

(2) Intrinsic rate of natural increase
(3) Biotic potential

(4) Carrying capacity

oft
() 10bp
(B) 6bp

(2) 8bp
4) 4bp

Z:.a Llalways cuts DNA molecules at a particul
DI ul
point called recognition sequence and it consi NM_.
ists




76

77

78

79

ments:

75 3
point of three 150!
above statements. choose the
most appropriate answer from the options givel
below:
(1) Statement I is incorrect but Statement I
correct.
(2) BothStatement]and StatementIl are correc!
() Bo ement I and Statement IT are
mcorrect.
(4) Statement] is correct but Statement I 1

incorrect.

Among Group 16 elements. which one does NOT
show -2 oxidation state?

(1) Po @)0)

(3) Se 4) Te

The Henry’s law constant (Kyy) values of three
gases (A. B. C) in water are 145, 2x10=> and
35 kbar. respectively. The solubility of these gases
in water follow the order:

(1) A>B>C (2) B>A>C

(3) B>C>A @) A>C>B

1 gram of sodium hydroxide was treated with
25 mL of 0.75 M HCl solution, the mass of sodium
hydroxide left unreacted is equal to
(1) 200mg (2) 750mg
(3) 250mg (4) Zeromg

*Spin only” magnetic moment is same for which
of the following ions?

T B, (Cr2*

C. Mn D. Fe*

E, 'Sc3+

n_:._omn the most appropy
Options given below:
(1) AandD only
B) Aandg only

te answer from the

)
@)

B and D only
Band C only

83 English |
12

80

81

Matcl
List 1 F_NE_».::_:

A. %«LQQ

>:_J;_.>F_

5 ®¢©Lr© 1. Cro,

{0)
o Qof@\ KMno,/
KOH, A
,CH; 5
o @\Qﬁm 9 s IV. (i) O;

COOK

Q Zn-| 1,0

Choose the correct answer from the options gjye,
below:

(1) A-L B-IV, C-II, D-IIT

2) A-IV, B-L, C-IIL, D-IT

(3) A-IIL B-I, C-II, D-IV.

(4) A-IV, B-1, C-II, D-IIT

Match List I with List I1.

List I List IT

(Molecule) (Number and types of
bond/s between two
carbon atoms)

A. ethane L one c-bond and

two 7-bonds
B. ethene Il two m-bonds
C. carbon IIl. one ¢ -bond
molecule, C,
D.  ethyne IV. one o-bond and

one m-bond

Choosethe correct answer from the options g
below:

(1) A-IL B, C-I, D-II
2) AL By, C-II, D-I11
@) Ay, B-III, €11, D
(4) A, BV, 11, p1

\WM.”::H\\\\—WWMMM N

|ution

[ Chemistry_
i the

r’s salt SO
which of

During the E‘cnu:_:o: of Moh
drolysis of

(Ferrous ammonium sulphate),
added to prevent hy

following acid
Fe2* ion?

(1) dilute s phuric acid
2) te hydrochloric acid

3) concentrated mz_ﬁ:::o

acid

(4) dilute nitric acid

7 increasing
83
[dentify the correct answer.

f e, By G N 3 5 g n for
mﬂohﬁﬁ:c correct answer from the options given (1) Three canonical forms can be draw!
below: ke CcO?% ion.

1) Li<Be<N< 3 -
Mov Li<Be<B<C<N (2) Three resonance structures can be drawn fo
@) EAmAchnAM ozone.

(4) Li<Bes G (3) BF; has non-zero dipole moment.
84  The reagents with which glucose does not react (4) Dipole moment of NF; is greater than that
to give the corresponding tests/products are of NHj.
A. Tollen’s reagent
B. Schiff’s reagent ;
C, 1BON 88  Acompound X contains 32% of A, 20% of B and
D. NH,OH remaining percentage of C. Then, the empirical
E. NaHSOj formula of X is :
rom the gi belo 2
N”oo_mwn :M oUo:oﬁ o Aozvm m__w:w.:hoﬁm:\m: : (Given atomic masses of A=64; B=40; C= 32 u)
an 2
3) AandD (4) BandE (1) ABC, 2) A;BC,
(3) ABC;3 4) AB,C,
85  Match List I with List II.
List I List IT
(Process) (Conditions) 89  Given below are certain cations. Using inorganic
A. Isothermal I.  No heat exchange qualitative analysis, arrange them in increasing
g i group number from 0 to V1.
B. Isochoric I, Carried out at A AES B G
process constant temperature i 3 5
C. Isobaric 1. Carried out at C. Ba?t RS G2
process constant volume E. Mgt
D. Adiabatic IV. Carried out at . |
process O TR Choose the correct answer from the options given

below:
()NEFASB, €, D
@) B,A,D,C,E

Choose the correct answer from the options given
below:

(1) A-IL, B-II, G-IV, D-I

) A-IV, B-III, C-II, D-1
() A-IV, B-II, C-II1, D-I Gl e o
@) A-L B-Il, C-IIL, D-1V @) E.C.D,B,A

S3_English |
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[ Contd




62  Given below are two

Statement |

false

nt I: Aniline does nc

Both Statement I and ¢

Statement I is correct but Stateme

ements:

and

List II

(Shape/geometry)

Trigonal Pyrami
Square Planar
Octahedral

Square Pyramidal

rfrom the options g

63 Match List I with
List I
(Compound)
A. NH. I
B. BrFs I
G e
DSiSE: IV.
Choose the correctanswe;
below
(1) A-II, B-IIL. C-1V. D-1
(2) A-L B-IV. C-II. D-IIT
(3) A-IL B-IV. C-III. D1
(4) A-IIL B-IV. C-1 D-1I

Match List I with List II.
List1
Quantum Number
A.
B.
Coufl

m 1

Choose the corre,

below:

M) A1 B, oy, D-111
(@) AL B, CIL Dy
(G) A-lL, B4y, C-1, Dy
(@) A, BV, ¢, D]

Mwlm_..nzm__ ]

List IT

Information provided

shape of orbital
size of orbital
orientation of
orbital
orientation of spin
of electron

ctanswer from the options given

al

10

67

68

66

Mn3*/Mn?* couple is more

an that of CrY/Cr

65  The E° value for the o

ze3t/Fe
or Fe3*/Fe?t dye
positive th

to change of

(1) d3tod’co

(2) d31od? configuration

(3) d5tod?confi

(4) d'to dS configuration

A. Aliquid evaporates to vapour.

B. Temperature of a crystalline solid lowered
from 130K to 0 K.

C. 2 NaHCO3~>Na,COx +COpp) + HyOp

D. O_N_mvlvm Q_E 70

Choose the correct answer from the options given

below:

(1) CandDD

(3) A,BandD

(2) AandC
4) A,Cand D
71

The energy of an electron in the ground state
(n = 1) for He" ion is—x J, then that for an electron
inn =2 state for Be3* jon in J is :

4

(1) 9% @) —x

X

®) () —4x

Which reaction is NOT a redox. reaction?

(1) BaCl, +Na,S0, — BaS0, +2 NaC]

(2) Zn+Cuso, - Zn80, + Cy

() 2KCIO;+1, 2
3t KIO; + Cl,

(4) Hy+Cl, > 210

[ Contd...

jentify the correct reage ts bring
\_.~7“_:_ _m_c following transformation.
( Y\n.:mxﬁ:vh.:w\v
O‘ln.:u\ﬁ — CHO
H,O/H"
PCC i
H,O/H" €
CrO;
BH; (
INON
PCC
BH;
/585
11,0,/ OHL,
alk. KMnQy)
i D
(iv) Hy0 il
On heating, some solid' substances change from

ey . .
solid to vapour staté*without passing through

liquid state. The technique used for the
purification of such solid substances based on the
above principle is r:vum: as

(1) 0:35»8@31&%& Crystallization

(3) Sublimation wwwv Distillation

Match List I with Em,m\_,m,.

ListI (Complex) s+ List IT (Type of
§ isomerism)

ToAz:u\r AZONLQN I. Solvate
s isomerism
=
Toﬁzzuvm Amo&wﬂ; Il Linkage
(A1) isomerism
2 =
H AZILL ﬁOAOZ,v& 1. Ionization
(¥a}
isomerism
To?movm“_o_u IV. Coordination
[t s s
b omerism
Choose the correcta /ldm_, from the opti (Y
P :W,W\ ptions given
() AL B-1V; C-11[, -1
(2) A, B-III, C-I +D-1

(3) A-L B, C-1V, B-IT
@) A-L By, C-II1, D-IT

i3

74
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ts -
Given below are tWo statemen

)] amafeore]”

Statement I : Both ?iz Hy
fer in thell

iff
complexes are octahedral but di

magnetic behaviour.

Statement II : ﬁﬂoﬁvﬁwmvmu_\i is diamagneti®

whereas ﬁncmmu_ww is _uu\wu,imm:on._a‘

In the light of the above statements, choose the
correct answer from the'options given below:
(1) StatementI is m:mw,w_.: Statement 11 is true-
(2) Both Statement [ EH_ Statement II are true-
(3) Both Statement I and Statement II are false.

(4) Statement I is true but Statement II is false.

Fehling’s solution A’ is=
(1) aqueous sodium nm_‘.wﬂo
(2) aqueous copper sulphate

(3) alkaline copper m_._.,_m\.ruﬁm

(4) alkaline solution of sodium potassium

tartrate (Rochelle’s salt)
B~

o
Intramolecular rvd_.owmmémvo:&soo is present in
(1) HE 4

™M
@ -
OH

O

QI " 2
N

NO, ™~

) @\ M
) te]
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me.

¢ c::._%,_ on

[AJ-[3]= (€)= 8910,

0l .:%.A_:‘ g i

S 20140 comp |
m

(2) Reaction i at equilibrium,

dency (o

2o

™

as a (englency (o £0in |,

sEA @) B>B>H
(1) 2271098 L of h&lilim at §

G) A>K>ph (@) B>R>A \
i @) B>R>H (2) 4 molofhelium o
% (3) 4uol
49 Choose th€orrect ci () dgeils i

Q

53 Acompound with a :ﬁmMoo:r r formy
has two tertiary oa,eomj. Its IUPAC ng,

(1) 2.2-dimethylbutgmg

(2

3)

“)

of¢
me

w
3

54 Match List I with E.MW_MA

Ano.”w“mm _._H‘z e
ersio
n) ™ (Number of

Faraday requj 58
A. _so_&:woaowu I ec1i

) BE
B h
RURY ?:EAWQ._E_ th = E:OL _m/ -
e 2t L has magne(jc moment M. il 2
& m| u”___n_ oMm_m length such gha( the e RSl =
0 o u
o_.r_n. 0°With each other. The elienicac) D L
this ney magnet js: D ) o
: - 1'mol of FeQ 1o _u@.ﬁw VAR ST

Choose the correy

()} %
()
(LR below:

Cta§Wer from the options gives

ns given

s consistent w

60

Ink—>

(©))

are NOT equ
(1) 2BrCly F9Bry) +Clg)
(2) PClsgg) = PClyg) * Clag)
G) My tloe =2 Hlg

@) €O+ HyQqy = COxg) T Hag)

Q0
The most mz_c_nom@on::o: among the following | 61

B =
CHy )
O
O] &
@ e

N () AL By Al G
3 LBV, CoI1, pog C CHl
- & 7y @ AILB1Y, e, pypyy ®) ony BN
;!ézj () Ay, B-IV, 0. DAl s
Rl 4GS D)
DR AL B 6 oy (©) Olm:“
[ Contd-  S3 English | 9
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reaction €87

of

’ s
erent E_‘:nc?::nr

(o]

|

.J
Given below are two statements:

ng paint of hydrides of

Statement I :
Group 16 elements follow the-order

o
H,0 > HyTe > F,Se > FLS. 2

Statement IT : On the basi of molecular mass-
H,0 is expected to have _oémm boiling point than
the other members of the group but due to the
ve H-bonding in H,O. it has

presence of exten:
higher boiling point.

In the light of the above statements, choose the
correct answer from the cv:ﬁmﬂ given below:
Ise butStatement I1 is true-

(1) StatementLis
(2) Both Statement [ and wx._m.o:ﬂnzﬁ 11 are true.
(3) Both Statement [ and Statement II are false.
(4) Statement [ is true but m.h:n..:n,a 11 is false.

Which one of the following alcohols reacts

: : \N
instantaneously with Lucas ﬁm,w.mr.sz

2

CHjy -}
|
(1) cH,-c-oH
CH,
3

~
(o)
(@) CH,~CH, ~CH, ~CH,OH

€
N o~
@) CH;—CH, — CH-OH ¢y

CHy O

(CORNCITES mz —CH,OH
CH;
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lon B (Q. No. 36

nergy required (o laungy,

to 50)

The minimum

36 Ehman o
o by means | ¥ g from the su face of carth op, ¢
Jina horizontal plane s gries of mass MLITOM Gl 7 b Of 1y
o is whirled 10 od of @ rpm. The i radius R in a'eIreute orbit at an g1 e
g ofa Strin with i _=,_:,.__ ,__,.”,nw becomes 2O M—vm._,__.c_ﬁ: {he surfac \of the carth is; i uged0 A small telescope has an :E,Q,.._:c of _.ana_\_o:m_: 44
rension in the stang 1S Sl r___n tension 10 the 0 o 5G, 140 cm and an eye piece of focal length .J..: cm.
hile kecping thesame radivs. 7 GmM. ™ (2) ROl The magnifying power of telescope for viewing
tring becomes 10 @ g 43} 6R a distant object is:
D 2T @rf Al G W2 (@) &
() = Al 4) ! (3) 28 (C))
te T @) 5 ( 2R
- - )= ~ 5
(3) 47 \J ™ 41 Al metalliCHIDATEIOGNOUTEE modulus.
o 2 0.5 x 101! N m~2and coefficient of linear thermal
i / d byiF = ot~ + P acts ex ion 10-5°C1, length 1 m and area of
R utput 1" as per the | 37 A force defined by S 0N apae expansion 2 g : g
A logi cireil LS it ot a given tinf@ 1. The factor Ak O o 10-3 m s heated from 0°C to 100°C | 45
following truth (BB - \ensionless :;.va and B are const e LChl without expansion or bending. The compressive
ss, 110 @ a stants, j o (g
£7 1S force developed in it 1s: 4
op 0 o B (1) 2% 103N @@ S5x10°N
(©) \ @ A (3) 50% 103N (4) 100x* 10° N
1 P
©) n& ! ) apr 42 Ifthe plates ofa parallel plate capacitor con nected
o hen
to a battery are moved close to each other, the
0 i
i iz A. the charge stored in it, increases.
0 38 A sheetis placedn a horizontal surface ;, arg 3
i3] o S Irface j; :
The expression foy the output Yis: of a strong magnetic pole. A force is :mmnwa_.ms W m__,o n:naﬁ_\ ﬂwqmgn_”n%%m.uﬂnuwnm.
- = o coa. o ededty . its capacitance in b
) B A (2) AB+4 A. hold the m__mmw)aaa wg IS magnetic, D. the ratio of charge to its potential remains
o e B. hold the sheetthere if it is non-magnetj; the same
B n = 2 .
©) IE g @ 3 C. move the m_a‘ﬂ ayay) from the pole v E. the productofcharge and voltage increases.
uniform <m_mu.:v\ if it is conducting Choose the most appropriate answer from the 46
33 The maximum elongation of a steel wire of I m D. move the sheet away from the pole v options given below:
length ifthe elastjp limit of steel and its Young’s ::..».o::é:M.WQR: is both, non-conductjy (1) A,BandC only (2) A, B and E only
Eo%_"__m. respectively, are 8 108 N m~2 and and non-po! wﬁ (3) A,CandE only (4) B, D and E only
2 Ym=2 £ J
2% 10" Nnr m 0.__oomm the on_._d.mrfmga_:a_imv from the optior : . g
(1) $mm -~ () 4mm given below: ™ 43 The velocity (v) —time (#) plot of the motion of a
(3) 04mm 4 (1) Conl e body is shown below
o @ 40mm y i8
(2) BandD only =
34 >=“”= flat nm_,n:._ma disc of radius 4.5 cm is placed MMW M and C o:Q/ /M\
w._w.:snh,_m,q.ﬂo mx_%mon\o?s_n_., e enion 5 LD W\WQ éo
= &ﬂ _m.m_.,a m~!, then the excess force & 16—
uired to tak % . B B .
e z° ilevay from the surface i : &2 wo “o F capacitor s connected to a 210 V. S01 a__do acceleration (@) —time (¢) graph that best suits
ot = (2 19.8mN rce as wro_s.«.ﬁ figure. The peak currenti this motion is :
0 @ 19N the circuitis neafl§) (z=3:14) T T
8 ; & g
Themoment ofinertia of a th; H= s b1
Passing through s E.M wm_:z rod about an axis n.n+ = @ " t(s)=> @ "o () —>
9 therodis 2400 o 1€ point and perpendicular e
Todis nearly - . The length of the 400 g
1) 720 o —
Ocm ;
Glees 0 iom A & g
* @ 207 (1) 0354 ) O 5
N R, ) : 2 &) ©— @ 10
Lagligh | () 0934 @) O Q) £
@) 1.204
6
S3_English | 7
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ngof kW

ower rati 2
e first

rs A and B have p
Those twoO ar
[toa fixed

Two heate
and 2 kW, respectively-
es and then in p
wer outputs

i i aralle
connected in serl ara

q ese
rce. The ratio of po for the:

power soul

two cases is:

1y 2:3 (72, LElL
@) 2eY @ 1:2
The property which is not of an electromagneti®
wave travelling in free space is that
(1) they originate from charges moving with
uniform speed.
(2) they are transverse in nature.
(3) the energy density in electric field is equal
to energy density in magnetic field.
LY
(4) they travel with a speed equal to gﬂS\m\o -

Aparallel plate capacitor is charged by connecting
it to a battery through a resistor- If Lis th

in the circuit, then in the gap between the plates :

e current

(1) displacement current of magnitude greater
than [ flows but can be in any direction.

(2) there is no current.

(3) displacement current of magnitude equal 10
I flows in the same direction as L.

(4) displacement current of magnitude equal to

I flows in a direction opposite to that of L.

If the mass of the bob in a simple pendulum is
increased to thrice its original mass and its length
is made half its original length, then the new time

X

=

period of oscillation is = times its original time

period. Then the value of x is:
NS
@) 2 @ 243

() 4 @)




eI
ist n
TS pan
L il ¢
» :.,:n i (Koveen!
Anl) (
ate ¥

agnetis
Piam I
Arie
— |
e v

mber)

i

e

5 Nonamh

pei
from the aption

T
Ooave thecomeet

oL

A\ B
adl BAILC

ot AW
identily the COFECt an

(of the gnven araph.

sod prr Junclic

ouprent measured in (4
charge carmien

Both Aznd Bare ingorreet
(2) Adscomrect but B s incorreet
(3) A incorrect bul B is correet
(4) Both Aand B are correct

Given below 4re two statements

Statemen( | ; Atoms are clectrically neutral as
they contain equal number of positive and
negauve charges

atement 11 5 Atoms of each cloment are stable
and omit their characteristic spectrum

n the light of the above statements. choose the

mostappropriate answer from the options given

below

() Sutement 113 incorregt hur Statement 11 js

omeq)
) Bail § y
1 s._.r F___E_:s_ Land Statement 11 gre
) Bath St
sﬂ_:g_, ement | and Statemeny 1 Aare

) Sy )
o 5 comect but Statemey, ) is

Sy, |

piven

aracteristics e

diode, the

s due 1o majority

22 Anunpol

23

cnle
| MSD represt

! (

s

1 ideal trans ~
L2 Vi equal 1o (the symb, B enters through a rig at
¢ usul meaning) P J " angle of incidence 30° as shown
(@)l 22 figure. It travels through the prism parallel to
(@)l ] ¢ BC and ¢ oS face A(

¢ index of the prism is

sed light beam strikes a glass gy

Brewster’s angle. T'hen

>y

reflected light will be completely

ace 1

3/
(1) the > ) 302 £2
_5_“_:,& but the refracted light wil) be \r\
partially polarised. ok &
@) the reflected light will be partially polariseg 2
2 3 5
(3) the refracted light will be compleyely 3 a3
y 3 Js
polarised. ) = @ =
(4) bothther +flected and refracted light will be ¥t
completely polarised. - J 3
3) @ =
Match List I with List 11,
List I List IT -
26 A panticle moving with form speed in a circule
(Spectral Lines of (Wavelengths (nm)) P B L SR A
path maintains 30
Hyfirgen for (1) varying velocity and varying accoleration
transitions from) (2) constant velocity
A m=3tom=2 I. 4102 (3) constant acceleratio |
B. n =410 n = I 434.1 (4) constant velocity but varying acceleration
C m=5tom=2 1l 656.3
D. my=610m=2 IV. 486.1 27 \ 3 ——Z P50
Choose the correct answer from the options ghe! In ihe nuclear emission stated above, the mass
below : umber and number of the product O
(1) AL B-IIL, C-111, D-1V respectively, ane
(2) Al B-, C-IV. DJ1] (1) 286, 8| 2) 280, 8I
() Al BV, e (3) 286, 80 (4) 288 82
(&) AV, B111, C-
, G- DI §3 English | 5
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s Assertion A
Reason R & gacint
Nesertion A > jigole

Reason R

3 m from

sts. choose the

o below

) Ais false but R is
(3) Both Aand R @ x R is the correct
explanation of A
3y Both A and R are true R is NOT the
anation of A
R i false
swing ce capacitance
tween terminal A4 and val B is
fe—i = <B
(1 4w 2 2t
) I Y.

wpace, the correct
e the following

If ¢ is the velocity of )i

about

satements

1
C The momentum

fa photon, p=

D.  In a photon-clectron collision, both total
energy and total momentum are conserved.

E Photon possesses positive charge

Choose the correct answer from the Oplions given

below

(D A B, Dand E only

(2) Aand B only
(3) A, B.Cand Donly
() A, Cand D only
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(@) Doth the points /

speed

3 ar
(1) of the given logic gate 1> simil

1
The araph which shows variation of ﬁ\.L
A7

andus kinetic eneray, £ 1s (where /. is de Broglie

S aglig, |

id - 2

y Soleno

ol
golenoid bar m

Fong val e
the above h__mms..:..h_mm_?z:_ solenoid-1. T}
In th Jeno10- i
ol

moving
dircetion -
in solcnol
directions:
) pAand DC

(3) paand CD

) ABand DC
(@) ABand CD

namic system is taken throu

thermody yas a y
Dn_w abeda. The work done by the gas along )
m.m___ bcis:

10

100 cm® aWel.H_u
(1) —60.J (2) zero
(3) 30J @) —90J

Two bodies A and B of same mass undergo
completely inelastic one dimensional collision. T
The body Amoves with velocity v, while body B

is at rest before collision. The velocity of the
system afier collision is v,. The ratio v; : v, is:
(1) 14 (2)r 1:2

(3)%2:1 @) 4:1

Atany instant of time 1, the displacement of ) 12
mmazm 15 given by 2/~ 1 (SI unit) under !
influence of force of SN, The value O
instantaneous power s (in SI unit):

(1) 6 (2) 10

€))7

wound |

TA.T

at the centre of the ¢

rrent of

@) 44
@) 44mI
ic source

slit experiment is replaced by w
(1) all bright fringes.w
(2) interference pattgmn w

be of equal width

(3) there will be a céiitral dark f
by a few colouréd! fringes
(4) there will be a Central bright white f

surrounded by 3 féw coloured fringes
The quantities which have the same dimen
as those of solid angle-are

(1) angular speed and stress
(2) strain and angle

()
(4)

stress and angle

strain and arc

that of the earth and

The mass of a planet

its diameter is half that of the earth. The
acceleration due to gravity on that planet is
54 )

) 3.92 19.6 m 52
3) 9.8ms? ()

33 English |

_rted by block

PUBBESSUIES 5.5 Sowsws S
1610
3
14 : rm maane £6.049 T, a magnetiC

modete 0S¢

e momant of

¥ the

mer e nesdll is

15 I'he erminal voltage of the haggery, whose emf is

en connected

+ 2 as shown

4
8V

16 If ¥=35sin| m + y

wia

represents the motion of 5

particle executing simple harmonic motion, the

amplitude and time period of motion, feéspectivel;
are %n
() Sm1s 2) Sem,2 5
3) s (4) Sem,1s
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